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® AR(1) processes for 1 and g (ignoring constants):

Perr = Op - fie + €y
giy1 = Og- & + Ef‘f’l

® Then, the dividend price ratio is (ignoring constants):
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o If p =0, persistence does not matter

o If p =1, persistence matters a lot

* And Goncalves (2020a) shows that Dur ~ 1+ e % = -1
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Table 7: Simulations

Payout(%) [30] 40 50 60 70 80 90 [0
(1) (2) (3) (4) (5) (6) (7) (8)

DP(%) [2.81] 375 470 567 665 7.64 865 [9.70
P 0.97] 096 096 095 094 093 092 [0.91
ER [094a] o091 087 o081 080 077 074 [0.72

EDG 009 012 015 018 021 023 [0.25

¢ Data: DP decreases from 3.4% (p = 0.97) to 4.9% (p = 0.95)

® Data: ER increases from 34% to 89%
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It is not about p...it is about 0, /0,

dp: = _ + 1
Pe = 1—p-d, He 1—p-dg &t

® In the empirical analysis, p has no effect because the
persistences are the same (= fqp)

® The effect comes from:
Cov(u,dp) = Br- Var(dp) vs Cov(g,dp) = Bq- Var(dp)

® In fact, since Cor(u, dp) = Cor(g, dp), the effect comes from:

Ou = PBr-0dp Vs Og = Bd0dp
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My Comments

Does that mean the Paper’'s Message is Wrong?

® No! It may still be about duration (and | think it largely is)

® Gormsen (2020) shows that o (ppivstrip) < o (LLEquity)

Gongalves (2020b) shows how to think about
o(tpivstrip) < o(1Equiry) from an ICAPM perspective:

M1 = — Ve Twirl — (“/t - 1) T VWit
~ I~
= = Yt lTwi+1 — A St
® Duration endogenously determines market (8

® 1+ Dur =1 By = 1 0, = 1 More of ogp, is driven by

Section 2 (i.e., the motivation) should argue that the duration
effect can happen through o, (not only through p)
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® The paper is very interesting and makes an important point:

Duration matters to understand the sources of price variation!

® | recommend reading the paper and | expect it to publish well
® |t would be useful to:
o Recognize that the results are about 0, /0, and not p

o Start from a completely different motivation for why duration
matters when decomposing returns (because it affects o, /o,!)

o Link the results to some economic framework that
demonstrates the connection between duration and o, /o,

e Good luck!



	The Paper in a Nutshell
	My Comments
	Final Remarks

